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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are TWELVE questions divided in TWO SECTIONS and printed both, in HINDI
and in ENGLISH.

All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.

UPSC 2018 || RaadheytheVisiion || 8889907405




Ql. (a)
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Q2. (a)
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Q3. (a)

UPSC 2018 || RaadheytheVisiion || 888990705

WIS A
SECTION A

fafaer danaii & waad # wifds wpfa &, di= smatfs wwit = we Hifaw sik
% HEE H IR HIfY | (150 e2)
State the three basic values, universal in nature, in the context of civil

services and bring out their importance. (150 words)

T TRl wfed “weamafrm’ ot “smerafie” % de faiem
#ifw | (150 T==)
Distinguish between “Code of ethics” and “Code of conduct” with suitable

examples. (150 words)

wiiiea @ = i § 2 fafae wfafell gr defea § S @ R
st srifafie @1 e fem s arfi 2 (150 w=2)
What is meant by public interest ? What are the principles and
procedures to be followed by the civil servants in public interest ?

(150 words)

‘Wmaﬁmmﬁrﬁmﬁﬁmmﬂaﬁ%wﬁsm%aﬁﬁﬂw%,

vy o7 savEs w9 A wEEl © Fwern B gEutonfe w2 (7 R

Hifm | (150 wez)

“The Right to Information Act is not all about citizens’ empowerment

alone, it essentially redefines the concept of accountability.” Discuss.
(150 words)

fea-fertifern & ot arerd @ 2 Ao ofn Wwfa fea R & A
T I IR Zr1 Ty Hifaw | (150 wrez)
What is meant by conflict of interest ? 1llustrate with examples, the

difference between the actual and potential conflicts of interest.

(150 words)
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Q1.

Q5.

(b)

(a)

(b)

(a)

“Tgfes % fau =afwal 6 @9 =@ T 3 §F i S e @ e,
g oi i | afz 3 aEen o A R, A o A W AE wE I
2 |7 —afa T%e

Tau 937 4 98 %9 @ N 39 969 & ? W Fifaw | (150 7e2)

“In looking for people to hire, you look for three qualities : integrity,

intelligence and energy. And if they do not have the first, the other two
will kill you.” — Warren Buflett

What do you understand by this statement in the present-day scenario ?
Explain. (150 words)

“Ireo wHE = °, 9% 79 9 wd Bran R e sfiafs § g @ we
Ffeend & g Ffvg 3 fem o & ) w9 FEw oz W
waadl ® Pde w3 F wi #, W T = I9ge IR |fgd s
=HifAw | (150 w=2)

“In doing a good thing, everything is permitted which is not prohibited
expressly or by clear implication.” Examine the statement with

suitable examples in the context of a public servant discharging his/her
duties. (150 words)

Frfenfzal &1 awm F FEg § s w9 98 8, 5 anae SaioR we &
e # 3fi g gfesm a 3 fF ofom @adi 9 sfa fag =@ ) oo
fomm 3 g @ SR gfemm s sl 39y @ 2 o I uw §
@ 9 Hifde 1 (150 ¥2)

With regard to morality of actions, one view is that means are of
paramount importance and the other view is that the ends justify the

means. Which view do you think is more appropriate ? Justify your
answer. (150 words)

A #ifu 6 wra s e T gddm ot § o aiy w5 B wa ®
aa TR, S e &l R o wel qerie wem wa # 1 swenfie
mm@maﬁﬁﬁnzﬁ%%qmﬁaﬁuﬁmﬂammmém
nfRe 2 (150 w=g)

Suppose the Government of India is thinking of constructing a dam in a
mountain valley bound by forests and inhabited by ethnic communities.

What rational policy should it resort to in dealing with unforeseen
contingencies ? (150 words)
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Q6.

b) & warea 1 s st w1 e w3 & v w W Bifc )
" (150 W=R)
Explain the process of resolving ethical dilemmas in Public
Administration. (150 words)

aﬁm:ziaﬁﬁﬁnﬁr&aaﬁ%uﬁmmaﬂmﬁaﬂ%maﬁmu%?

What do each of the following quotations mean to you in the present
context ? .

(@) Tt ofi am R R FA @ s w0 @ fuio S0 ad
T8l & 5 3wl W qud @ i, afow 7@ 2 T sroor @ i
R | W@ W &0 fvw @9 ¥ gl AR R W oD B E | wmm @i R,
T sl Aifa & wefm, sreor o gud 3nT % sifredeta 49w o &
% 1 gl % 9 uEa & 31§ T warw fofs £ smavrma @ a0
et ® 17 — smmem & (150 weg)
“The true rule, in determining to embrace, or reject any thing, is not
whether it has any evil in it; but whether it has more evil than good.
There are few things wholly evil or wholly good. Almost every thing,
especially of governmental policy, is an inseparable compound of the

two; so that our best judgment of the preponderance between them is
continually demanded.” — Abraham Lincoln (150 words)

(b)  “Wiu 3 srafeorm v wnm F vy § 17 — wwen A (150 W)

“Anger and intolerance are the enemies of correct understanding.”
— Mahatma Gandhi (150 words)

(0 “mmmmmﬁmaﬁmmﬁmmw
& 17 — frsage (150 =)

“Falschood takes- the place of truth when it results in unblemished
common good.” — Tirukkural (150 words)
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WUEB
SECTION B

Q7. TH Fren w w1 ww Rnder sfuwd 2, fom w 3w 3= st sl @ € |
Iah fuFgd I oF § @A g0 F@R 3 W ahe il & [ o |
TEVTE A & SITHEl i IEEE B @ gy Hi R
sl g % fore Pafafaa sl € .

(1) 60 ad & 71 I|A AHfuH Y 7 |
(a) ol smfdm e @ S&fua @ |
(@) ufEr @ aiffs 97 ¢ 1@ | 538 |

() 3o % arg el % e 6 uEe § TS A B4 6 yEE qedrEal
& |

us 27 & gz oo 0w & wafed § A & o & e akaea @ o |
7 3% B & w i i 9 A o # ) g Afe T ala i o @ e
fawn &1 ga1 @m faad sad swEe 4 @ 2 | aftmrEsy, IE% 9 | 9ran diw
drg1 &t & Rred ag w18 wfifs %0 =l R @ ? | 9g <ufa A @@ FA H
fou Y gam 78 2 | ves faoew v fafecass, aa 9 R €, fa o & 33
wiew fafeen +3 &1 dar R | R oft, 3w gz <ufa @ snofars =, 34 ganEd,
JEqATE 1 @4, A I T T 1 @ B, =4 f) 983 e g | eufa aees
@ F FAET Ao FH A W@ FA h Gl FEfeat gl wwar 2 ) R, B @
vt 1 feia geme ffvaa @ w35 flaa i e 3§ wrhl T g weh )
by @ gRfeafa 4w/ sEfma s ifeg 2 (250 =)

Rakesh is a responsible district level officer, who enjoys the trust of his higher
officials. Knowing his honesty, the government entrusted him with the

responsibility of identifying the beneficiaries under a healthcare scheme meant
for senior citizens.

The criteria to be a beneficiary are the following :
(a) 60 years of age or above.
(b)  Belonging to a reserved community.

(¢)  Family income of less than ¥ 1 lakh per annum.

(d) Post-treatment prognosis is likely to be high to make a positive difference
to the quality of life of the beneficiary.
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One day, an old couple visited Rakesh's office with their application. They have
been the residents of a village in his district since their birth. The old man is
diagnosed with a rare condition that causes obstruction in the large intestine.
As a consequence, he has severe abdominal pain frequently that prevents him
from doing any physical labour. The couple have no children to support them.
The expert surgeon whom they contacted is willing to do the surgery without
charging any fee. However, the couple will have to bear the cost of incidental
charges, such as medicines, hospitalization, ete., to the tune of ¥ 1 lakh. The
couple fulfills all the criteria except criterion ‘b’ However, any financial aid
would certainly make a significant difference in their quality of life,

How should Rakesh respond to the situation ? (250 words)

H9 e d u afte sfuwh 83 F o age wre A Bk qa
aﬁmaﬂmﬁ,ﬁﬁmﬁmm.mm%mﬁm-iﬁﬁaﬁﬁ
qzézﬁwﬁ%mwaﬁlmﬁufmm&ltﬁmmﬁﬂmtiﬁmﬁ;m
m%ﬂmﬁ?fa§|ﬁﬁmﬁiﬁmamm@wmr@1%ﬁhmmﬁm
m-ﬂ-wwmﬁwnmﬁﬁﬁﬁ@mm-ﬁ-mmﬁumm@|ﬁﬁﬁ
@%m%mmﬁﬁﬁﬁmmwﬁmﬁmﬁamsﬁﬂéﬁt
ﬁémmm-ﬁ-mﬁm\ﬂmmwélﬁﬁﬁm%ﬁwﬁﬁmaﬁﬁm
ﬁﬁﬁrmmsﬁtmﬂmﬁﬁmtﬁqﬁxzﬁhﬁtﬁﬁmﬁmwﬁn
ma}a,dﬁﬁaﬁaﬁﬁmmmﬁaﬁrﬁwy:ﬁ@mwmﬁﬁmm
ﬁraﬁm&ﬂ%zom%wﬁm%mﬁﬁﬁ:w&:mw'ﬁﬁdﬂﬂuﬁ!ﬁ
gymfw%aawﬁq'nn&smu,mﬁaasﬁmwﬁﬁmmiﬁmmmm
wwﬁmaﬁmsﬁﬁﬁmtﬁimmﬁmﬁﬁlﬁsﬁimﬁ
tﬁﬁﬁamﬁaﬁiﬁlmﬁm%mﬁﬁimnqﬁémﬁﬁﬁtﬁnémﬁmmﬁ
aﬁaﬁmrg“t%tagmw&ngtﬁmm%ﬁsuﬁm&:qmwimmﬁrﬁ%,
ﬁrmﬁrmﬂﬁtﬁ%ﬂmml%miﬁ?:ﬂwﬁagﬁ-ﬁi?ﬁ-ﬁm
@mﬁwm@n.ﬁaﬁmmmﬁﬁhmm,mﬁmﬂﬁ
%mﬁaﬁﬁlmwﬂ?ﬁ,w%wﬁagaaﬁﬁﬁﬁmm@n.ﬁaﬁ@
&3 1 gfta sy g @ s |

mmﬁﬁqmmiﬁﬁq&mahﬁw@i%aﬁaﬂq%w
=i § 1 (250 wez)
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As a senior officer in the Ministry, you have access to important policy
decisions and upcoming big announcements such as road construction projects
before they are notified in the public domain. The Ministry is about to
announce a mega road project for which the drawings are already in place.
Sufficient care was taken by the planners to make use of the government land
with minimum land acquisition from private parties. Compensation rate for
private parties was also finalized as per government rules. Care was also taken
to minimize deforestation. Once the project is announced, it is expected that
there will be a huge spurt in real estate prices in and around that area.

Meanwhile, the Minister concerned insists that you realign the road in such a
way that it comes closer to his 20 acres farm house. He also suggests that he
would facilitate purchase of a big plot of land in your wife’s name at the
prevailing rate which is very nominal, in and around the proposed mega road
project. He also Lries to convince you by saying that there is no harm in it as he
is buying the land legally. He even promises to supplement your savings in
case you do not have sufficient funds to buy the land. However, by the act of
realignment, a lot of agricultural land has to be acquired, thereby causing
considerable financial burden on the government, and also displacement of the
farmers. As if this is not enough, it will involve cutting down of a large number
of trees, denuding the area of its green cover.

Faced with this situation, what will you do ? Critically examine various
conflicts of interest and explain what are your responsibilities as a public
servant. (250 words)

78 us U & fowd wmEEd e 1 snilandt st 3@ s % ws @ e A
gfera sfers e fran w0 2 <0 318y woE T & o FeE R 1wy e F
agd #d B e §, Fo fdd $i awd # sl o A, Fed fren afvwial ® a9
HEET el &

afl aF @ FIE 3 swErd @ FnEn F ghewiv A @ ST @ @ IR I ae
Tae ane & I @ R 1 on, frgafal, gfem & geer, swfus geer -
aft F1 Fae wifira wwra w & 1 wen gm A e ol oft it e gd R

gk Frhavi & g wer 2 6 fo@ % R &l 8 o T 1 F wel-Ee W R,
A anfds, sienfe ao Rafie wu A fog € | swata G glaws = $f @«
0 wra wgan @ | fafim g § anan B3 9 s sl W Fai wagren
24 8 1 oredia i wi % wema d guUR @M % e T @ WK % g i A @
AmIferR @TeHl % g Hi§ WewEqul d'el 6w E |

awen it Fafm 0 % fau s s 3 3unm S ? (260 95)
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Q10.

It is a State where prohibition is in force. You are recently appointed as the
Superintendent of Police of a district notorious for illicit distillation of liquor.
The illicit liquor leads to many deaths, reported and unreported, and causes a
major problem for the district authorities.

The approach till now had been to view it as a law and order problem and
tackle it accordingly. Raids, arrests, police cases, criminal trials — all these had
only limited impact. The problem remains as serious as ever.,

Your inspections show that the parts of the district where the distillation
flourishes are economically, industrially and educationally backward.
Agriculture is badly affected by poor irrigation facilities. Frequent clashes
among communities gave boost to illicit distillation. No major initiatives had
taken place in the past either from the government'’s side or from social
organizations to improve the lot of the people.

Which new approach will you adopt to bring the problem under
control ? (250 words)

mmmmvgmmmm%mﬁmﬁ | 78 qfEn
e fafer gz won awa R | watEn w@ e & s aE e 3
T T H arlER B R | fa ws aen wR 3, o Ry @) sl 50
&, haifis ufEm 6 mdn w when w fm o o R % wie g i
w1 6t w=iwfa vegm w4 |

m%ﬁmﬂtgimrﬁamﬁmmﬁxuﬁwa@wméaa&ﬁzﬁl
ﬁdﬁﬁﬁaﬁzweﬁi{ﬁdlgqumﬁﬁiﬁiiﬁ?,a‘ﬂaﬂtm?ﬁwgtm%m
mlmqgaﬁamqgaﬁﬁrhﬂtﬁméétﬂmaﬁaﬂrﬂzﬁmmm,
TR B A2 HA H AR A w0 jEerEg Ade 8 e | anhanft o i
i gl &l 3 v fern Rl 9 & i wEm ol srawa B anen @ Rus 3
%qgmﬁmméﬁqélmmm%mﬁmmiﬁmﬂﬁ%damﬁ
w1 e 2 R

W%ﬁﬁﬁmamwmwaﬁmﬁmnngaﬁg
HETAH TR H A AW A 0 | 6@ 7 I R N 30 3 v I
sh1$ wR Ieaife i W fnk 9

wﬁﬁﬂﬁ%mﬁaﬁﬁmwa&qﬁmﬂ%%mﬁ,mw
I # Fdea fem wr 5t 2 (250 wez)
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Q11.

A big corporate house is engaged in manufacturing industrial chemicals on a
large scale. It proposes to set up an additional unit. Many States rejected its
proposal due to detrimental effect on the environment. But one State
government acceded to the request and permitted the unit close to a city,
brushing aside all opposition.

The unit was set up 10 years ago and was in full swing till recently. The
pollution caused by the industrial effluents was affecting the land, water and
crops in the area. It was also causing serious health problems to human beings
and animals. This gave rise to a series of agitations demanding the closure of
the plant. In a recent agitation thousands of people took part, creating a law
and order problem necessitating stern police action. Following the public
outcry, the State government ordered the closure of the factory.

The closure of the factory resulted in the unemployment of not only those
workers who were engaged in the factory but also those who were working in
the ancillary units. It also very badly affected those industries which depended
on the chemicals manufactured by it.

As a senior officer entrusted with the responsibility of handling this issue, how
are you going to address it ? (250 words)

g, W we & U gfifea fafhes # | I uh untd =mm eafia w0 fomn B
ﬁrﬂﬁ;mmﬂm%mﬁmﬁfﬁméﬁmmaﬁﬁﬁ%%ﬁ,&w
I-ferdiasl srerarE wafim wen wwd § | 5O A, osg % 39 a9 6 9l @ 30
T R | wEfe srqae 39 8 & fore we 9@ arfia @

A I AT B H AT TS F W@ § | g F aehfim & Ariew F oo
mﬁﬁwﬁﬁmaﬂmﬁ%ﬁmgﬂlmﬁﬁgﬁy@mﬂtﬁﬁ#
I qG WG A W g vl w6 W, e yae st 9 s s
Tifee | Siaet wedm F fom Gum R 1 3 g WD o W o = T amE @
g1

A 7% W pra #F Fo i off wfird £ W qof w9 A awdR § ) af sfe
W0 A i & e fen s @, @ glae = aga w0 wwa o 3Eh)
mﬁ@ﬁﬁgﬁ:ﬁﬁmmmwsﬁaaa@ﬁtﬁt%,wﬁmaﬁwﬁw
WM & °§ g § | gk wrfafes, g0 Swem @ B sa% s sraare % @
I ft wfmn of anfim Soft
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Ak wma &t fawey #

() =S gfRwm @ gu, wfumiaes & yrem seaer gRffaa w s T
Hfd # TSR ® N Faa awh w5l B @

i) WM w WE A @ M Wt qEge W I =2, W A R & @ FaEa
Geic Al

AN F Y@ T F AWM, AW KEA wE Rw @ fawey A i
w7 (250 7g)

Dr. X is a leading medical practitioner in a city. He has set up a charitable
trust through which he plans to establish a super-speciality hospital in the city
to cater to the medical needs of all sections of the society. Incidentally, that
part of the State had been neglected over the years. The proposed hospital
would be a boon for the region.

You are heading the tax investigation agency of that region. During an
inspection of the doctor’s clinic, your officers have found out some major
irregularities. A few of them are substantial which had resulted in
considerable withholding of tax that should be paid by him now. The doctor is
cooperative. He undertakes to pay the tax immediately.

However, there are certain other deficiencies in his tax compliance which are
purely technical in nature. If these technical defaults are pursued by the
agency, considerable time and energy of the doctor will be diverted to issues
which are not so serious, urgent or even helpful to the tax collection process.
Further, in all probability, it will hamper the prospects of the hospital coming
up.

There are two options before you :

(i)  Taking a broader view, ensure substantial tax compliance and ignore
defaults that are merely technical in nature.

(ii)  Pursue the matter strictly and proceed on all fronts, whether substantial
or merely technical.

As the head of the tax agency, which course of action will you opt for and why ?

(250 words) 20
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Q12. TEaE Hisd, & Sy fadmm aw @omde. & ¢f =aen wwws, Y wwn
% Fmrh FEwdl % siftam % an § e e SEEE w1 gend 3w #
fen | o fafy favwi ot smfehl mar & oeR, So% @ *d & o
wfufram 1917 =1 3g= gon R, fowh ofevia ow 1@ @i w1 A TER
HET S & | $8 F1asg 6 wied 3 s dren un, 399 @ o iR van e s
TS Ao FE 91 | I A9 A wreete w0 # (fkae w=ien)” 98 w5
& If=a Igu % “SHan = 7@ gu o TR 3uE am woF TR S @ ok sEes
fasg 7 fem s R7, sarn Ime Fdes §

A & 398N, WEN g0 @ & 3gua # dufres 6 war fFu fm agw
T e wifgn w4 gaE ammtaw G aa adtes & arfis e
e Wi § | oS afe e | wena 4 | Fae $o A 9% a6 ey f =ied 3
HHA ArST } R T e F @ anEie Fa g, e e I8 s sguwm
1 =R | .

T A T wEAd @ 6 S = Fe Fph w9 3 wfEfee 8 g of Afea ©
g & Sfem o1 2 i W w7 2 3@ e i weew s gedi A AR ge s @
ey 1 (250 3re2)

Edward Snowden, a computer expert and former CIA systems administrator,
released confidential Government documents to the press about the existence
of Government surveillance programmes. According to many legal experts and
the US Government, his actions violated the Espionage Act of 1917, which
identified the leak of State secrets as an act of treason. Yet, despite the fact
that he broke the law, Snowden argued that he had a moral obligation to act.
He gave a justification for his “whistle blowing" by stating that he had a duty
“to inform the public as to that which is done in their name and that which is
done against them.”

According to Snowden, the Government's violation of privacy had to be exposed
regardless of legality since more substantive issues of social action and public
morality were involved here. Many agreed with Snowden. Few argued that he
broke the law and compromised national security, for which he should be held
accountable.

Do you agree that Snowden’s actions were cthically justified even if legally
prohibited ? Why or why not ? Make an argument by weighing the competing
values in this case. (250 words)

UPSC 2018 || RaadheytheVisiion || 8889907405



